Score

Lowest 10 . .
The interquartile range
Lower Quartile 20 q. 9
Median 60 IS:
10 20 30 40 50 60 70 80 S0 100 110 120 Upper‘ Quar"'ile 75
Scores -
Highest 100 85 - 40 = 45
Score
Lowest 10 The interquartile range
Lower Quartile 20 id
10 20 30 40 50 60 70 80 S0 100 110 120 Median 45
Scores Upper Quartile 70 65 - 30 = 35
Highest 90
Score The interquartile range
Lowest 20 .
Lower Quartile 30 IS:
10 20 30 40 50 60 70 80 S0 100 110 120 Median 44
Scores Upper Quartile 65 90 - 30 = 60
Highest 90
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Score
Lowest 10 The interquartile range
Lower Quartile 20 is:
40 50 60 S0 100 1i0 120 Median 34
Scores Upper Quartile 60 70 - 20 = 50
Highest 80
Score
Lowest 30 The interquartile range
Lower Quartile 40 is:
40 50 60 90 100 110 120 Median 65
Scores Upper Quartile 85 60 - 20 = 40
Highest 110
Score
Lowest 20 The interquartile range
Lower Quartile 30 .
Median 70 IS:
40 50 60 S0 100 110 120
Scores Upper QUGPT“C 90 75 _ 20 - 55
Highest 110
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